

4) If $A = 3i + 7j - 2k$, $B = (1 + 3j) + 7k$, $C = 9i - 4j + 6k$, find the angle between A and B

Solution
 Given $A = 3i + 7j - 2k$, and $B = (1 + 3j) + 7k$
 $A \cdot B = (3i + 7j - 2k) \cdot (1i + 3j + 7k)$
 $= 3 + 21 - 14 = 10$

$\cos \theta = \frac{A \cdot B}{|A||B|}$
 $|A| = \sqrt{3^2 + 7^2 + (-2)^2} = \sqrt{17 + 49 + 4} = \sqrt{70}$
 $|B| = \sqrt{1^2 + 3^2 + 7^2} = \sqrt{1 + 9 + 49} = \sqrt{59}$
 $\cos \theta = \frac{A \cdot B}{|A||B|} = \frac{10}{\sqrt{70} \sqrt{59}} = \frac{10}{\sqrt{4130}} \approx 0.2645$
 $\theta = \cos^{-1}(0.2645) = 74.66^\circ$. θ is the angle b/w them

1) B and C Solution

Given $B = (1 + 3j) + 7k$ and $C = 9i - 4j + 6k$
 $B \cdot C = (1 + 3j + 7k) \cdot (9i - 4j + 6k)$
 $= 9 - 12 + 42 = 39$
 $\cos \theta = \frac{B \cdot C}{|B||C|}$
 $|B| = \sqrt{1^2 + 3^2 + 7^2} = \sqrt{59}$
 $|C| = \sqrt{9^2 + (-4)^2 + 6^2} = \sqrt{81 + 16 + 36} = \sqrt{133}$
 $\cos \theta = \frac{39}{\sqrt{59} \sqrt{133}} = \frac{39}{\sqrt{7847}} \approx 0.44026$
 $\theta = \cos^{-1}(0.44026) = 63.88^\circ$. θ is the angle between B and C

1) The unit vector in the direction of $(A+B+C)$ Solution

Given $A = 3i + 7j - 2k$, $B = (1 + 3j) + 7k$, $C = 9i - 4j + 6k$
 $(A+B+C) = (3i + 7j - 2k) + (1i + 3j + 7k) + (9i - 4j + 6k)$
 $= (3+1+9)i + (7+3-4)j + (-2+7+6)k$
 $= 13i + 6j + 11k$
 $|A+B+C| = \sqrt{13^2 + 6^2 + 11^2} = \sqrt{169 + 36 + 121} = \sqrt{326}$
 $\hat{A+B+C} = \frac{13i + 6j + 11k}{\sqrt{326}}$

2) A particle moves along a curve, $x = 4t^2$, $y = t^2 - 4t$, $z = t + 1$, where t is time. Find the modulus of acceleration at $t = 1$

Solution
 When $x = 4t^2$, $y = t^2 - 4t$, $z = t + 1$
 $\frac{dx}{dt} = 8t$, $\frac{dy}{dt} = (2t - 4)$, $\frac{dz}{dt} = 1$
 Since $t = 1$,
 Velocity $= \frac{dr}{dt} = 8i + (2 - 4)j + k$
 acceleration $= \frac{d^2r}{dt^2} = 8i + 2j + k$
 The modulus of the acceleration at $t = 1 = \sqrt{8^2 + 2^2 + 1^2} = \sqrt{81} = 9$

3) If $A = 4i + 2j - 4k$, $B = 5i - 7j + k$, $C = t + 9j - 3k$, find the vector triple product $(A \times B) \times C$

Solution
 $A \times B = \begin{vmatrix} i & j & k \\ 4 & 2 & -4 \\ 5 & -7 & 1 \end{vmatrix} = i(2 - 28) - j(4 + 20) + k(-28 - 10)$
 $= -26i - 24j - 38k$
 $(A \times B) \times C = \begin{vmatrix} i & j & k \\ -26 & -24 & -38 \\ t & 9 & -3 \end{vmatrix}$
 $= i(-72 - 132) - j(78 + 114) + k(-234 + 228)$
 $= -204i - 192j - 6k$